Note: Highlighted Option in the box isthe Correct Answer

Totul no. of Printed Pages : 32 BOOELET
Sanedt Teote Sdws ¢ 32 20EBeS
Hall Ticket No./ o566 28 Zowts Signature of Invigilator /355 mz_‘.,ﬁ pei=rT

TET-111-EM/TM

Time : 2 Hours, 30 Minutes Max. Marks : 150
Siodkioo 1 2 Fon B0 Sn e N oty e 150

Instructions to the candidates :
epgilnnin (A 3
1. Write vour I—Lr.Lll Ticket number in the box provided at the left side of the booklet
immediately after receiving the Test Booklet.
28z euBE S BB, Dow wobBd DR griios” &, e Lo 166 JB Dowits ol
2. Check whether the Test Booklet contains as many pages as are printed on the
top ol this page,
G 5 3 el moQolis HEom s 1Bl ol bl & dr B85 500D,
3. Check whether all pages are printed preperly. Do not remove any pages fiom the
Test Booklet.
sh 1oBRSE wl BE8F nusies 20w 4ol 8 dhurmaStel. by woBRl S D uy 38
S,
4. Indicate vour answers on the given OMR answer sheet only. Bead the insteuctions
given on bioth sides of the OMR answer sheel and follow them sccordingly. Tho not
write the answers in the Test Booklet.
Ra e 3070 OMR S50 Si5e8™ oomd. OMR 5armoms el stepiw o
S SR pEliuesee SRl B uiw ST Tros R e
This Test Booklet consists of 150 multiple choice questions, Answer all queslions,
Each question carries one (1) mark only.
& b ©oBBS° 150 winigon® SHacmhes, e [ERoD SureTa gond. B9 S w3
aptiy, (1) amEis downel. .
6. Do not do any rough work in the Test Booklet, Use only the white paper
provided at the end of the guestion booklet for rough work.
-.-:ﬁ;v o3R8 donad D 8D SotoEmeisi. Bip eolad Lot yow B mheey Ll D
I3 worfeTE.
i Af‘t,er completion of the examination, hand over the OMB answer sheel Lo the
Hall Superintendent without fail.
S5 PG eranats Reeds OMR siogrn B, Hes BrnloleBoddss Bl 0m welBaizl,
8. Candidate will not be permitted to leave the examination hall till the completion
of the stipulaled examination time.
Sigioln wlgy nodics G e 580 AT DED THeGo S En sisisolis,
W—:ll.-’TET— 111-EM/TM P.T.0.

F‘I



Manabadi

Note: Highlighted Option isthe Correct Answer
S, —e—— -

: —— i =




Manabadi

~ Note: Hi

—_

n isthe Correct Answer
et R gt o] . ;

Ly L
i el

ghlighted Optio

Bgr o fote i) e
. . -
~

'I

e

]

i




Manabadi

Note: Highlighted Qp_tio_n isthe Correct Answer

ﬁ%ﬁ-%; !

pet




Manabadi

Note: nghllghted Option |sthe Correct Answer

wy

)
%ﬁ%ﬁ
““i%%&f‘ﬁ;ﬁi

,,\..




Manabadi

Fo— W e P s

Note nghllghted Option isthe Correct AnSNer .
S r— ch B
SFE

f.-n— St '-3"3‘;'"-'. ﬁrﬁ%ﬁ%ﬁ%

T A
k2 t) ,-;:-aflﬁ }»@ﬁhp ﬁ%ﬁf gji’i-.nfﬁ';, ﬁhﬁgﬂr ,P":
st ﬁg:-tv E.a i“*:i:m-itz%p% e

;h’aﬂ:;f &kM“H

L 'i:'-

":
L '*Ms::;




Manabadi

24,

W-2L/TET-111-EM M

Note: Highlighted Option isthe Correct Answer

Change i1 the neuralogical syvstem
of & person due te Lthe process of
memnory 5 Kknown 85 ...,

1) engram

2 penetical menoery

(58 I.i-iu;__,"unatiual MOy

(4} limguistic memory

8 i et nd ol oo
e B eI

(1) ol

(2) iz D

(3] En-iflogin D

4] ;,,-—iaﬂg:;-a_w.z:-

& class VIII rural student learns the
periodic table in a similar fashion to
learmng 'VIBGYOR, the colours of
the rainbow, The technique
invalved in this learning is ...
(1) muocmonics

(2) paired azzociation

(A} #deas asscciation

(4} word azsociation
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(2) Seedhiaiide o
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24, Tao carry out the provisions of the

RTE Act, 2009, funding' is the
responsibilityof ..

(1) the central government

" 12) the state government

(3 85A and EMSA
i4) both  central and state

overnments

sroe Doy Sas, 2009 5% womuis

(1) Sol Sttt

(2) O Eoeiottes

(3) cih, cia, o, Soldi el ciea, Jn. .
(1) o, o) seeres

25. As per the NCF-2005, assessment

at Class land Iis ...

(1} no test in any form

{2} oral test

3] a simple written or oral test

(4) based on the svllabus

bl SEReTDE Gipe-2005 @Soos
2.5, Dot SUNCoDE” detteln il
(1} Jovedd by Satng

(2) aodyaly

(3) dEetes oo Bor s nly *

(4) bowh wmplonr &
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(2) Bzt nere Sbotion

(3) s Gttt dinat S
(4) PO BRI e

Innovative way of problem solving

15 mostly observed in this learning.
{11 5-R conditioning _
{2] R-5 conditioning {
{31 Insight learning

{4] Social learning

waew S03mUed® LG BGED T
wipiied® Ot S RotBe Sty

(1) S-R Jeeise

(2} B-5 Dol

() u:ﬁﬂt}mwﬁwiﬂ

(4] Srokol edinine

/TET-111-EM/TM [8]

hehavior of the child who tried to
comfort the other child represents ...

(1} social development

(2) social and emotional
development

(3) emotional development

{4) cognitive development

BTy ity DEM R B s

Qg MO LOUHO LoTedsls

Setodeus Fang Ragh SO0 Doipteel.

(1) mrcipal demilc

(2] Fmefok obatis &di Drite

«3) & Demiza
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1 1ol Bl bt istoass B 34, s oin ebuio
(1) Beutis (1) egine Dagis

(2) [yel (2) Satiogrrye

s & Sosasase

(4} hedd;, ~Be 1) s

G litige ™ S Vel e tbaag
35, St E*::ﬂ: KBl ook SR o mhtrns

(1) Ssmise -
(2) b (1) Segoresd digin Disptoe felel TF
(3) sedie TSR 0 GoaREesd

(4) Lampa (2) Fraoredd wiis Do Moles o0

?@ﬁ:‘m‘ it SR et et

- o, - "] a
Tt ol 0 R P s B e wme
(3) Prpwmed dgse Ihake N0l of

(1) s
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(3) Drucsg (1) Tepmed wins Iuptoe Cal of
(4) Setan T .ia-:u:ﬂ:hbt.-: e St
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58 Bl s Seoiotiaiisy Dt el DGl
08 Docnad s St TR dina
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nrSond e
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28, e ol Foeth e_rr.m st Ind

gt wio

(1) s

(2) piso

(3) wrwo

(4) Sy

Bl pde

(1) wepes

(2) Semure

(3) widbeo

(4) gEpioo

Sased @ b1 CETeD
(1) -2k, sh-ol, 5, -3, &-O
(2) B-gr, &5, iy, B-0p

(3 Sy, G0, L3, -0
(4) -5, H-ciid, 15, -5m, &-5F
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(4) Trustis, SRS
42, 'ERcnyD Dogota’ wiy Dk G B
11) St o
() S ol
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(4) Esosemes e
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Sustese FBu ey TReET sy
et

(1) B o>

(2) wikicliorg 3as

() wsiaghs (Bot

(4) 5 God

cisp $bg sy ¥y T
(1) esboinlniarie

@ sieEmse

w) SpurgETye

(4) HegpimrEorio

58 0 SHE ot Sistmias ey
I?Hﬁn

(1) S %o

(2) wPgmue

(3] Btyrd 5o

(4) Gair ErbTEe
e (EEno Moo tiE
(1) 5, 5, &2, 8, 3

(2] 5, iy &y i 0

(8) % &, 0, & 2
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(2) e

(3) 5"03
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B2, S e, it ticest it Sopen
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PART-III
BOOKLET
LANGUAGE II - ENGLISH @
61. Choose the correct word to fill inthe | g8, To make the past perfect tense, we
blank in the sentence. : : —l
; use this helping verh.
Copper is ...... useful metal.
(1) have
(1) a s
(2} an {2} had
() the (el s
l::.li_:l Any 4} hﬂ‘r’jl’lg
€2. 1 forget his name. 67. The opposite of 'equality’ is ...
In the above sentence the {1) unequality
underlined word is a .......... (2) disequality
;.g: m:-ubn (3} nonequality
':‘ L WRER . {(4) inequality
(@ conjunction
_.{4) pronoun 68. Identify the correctly spelt word.
63. Identify the correct sentence, fl} MTHmUdﬂﬁm.l
(1} How far your house it is from 2) accommaodation
here, (3) acommodation
(2! You are doing that why? (4} accommodetion
(1) How far is it from here to your | g9, Choase the corpect word to fill in the
house? blanl ¥
4} Where you are going now. IR
: : We went ............ the market last
b4, Lhﬁursg the correct word to fill in the Sunday.
blank in the sentence. i1
Rama can speak ............. ‘ i
(1) fast ' %
(2) wonderful &
@) fastly e
(4) severaly 70. Choose the correct phrase to fill in
65. If you combine the following twao the blank in the sentence.
sentences, They ... living here gsince 1999,
a) Heisstrong, i1} have been
b) Hecan wa_nrl-: hard. (2) has been
om will get {3) are being
{1} He can work hard because he is (4) have hoing
strong. ; =
(2) He is strong when he can work 71. Identify the 'positive degree’ of the
hard. sentence.
{3) Though he is strong, he can Raju is taller than Amar.
work hard. (1) Amar is not tall as Raju.
(1) Although he can work hard, he (2} Amar iz not go tall az Raju.
15 strong. (3) Amar can be tall like Raju.
{4) Amar is as tall as Raju.
W-21/TET-111-EM/TM [14]
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Identify the correct ‘question tag' for
the statement.

Your brother is a teacher, ..

(1] izhe

(2) isn'tit?

(3) isnt he.

(4} isn't he?

What is the meaning of the word
underlined in the zentence?

The water glittered in the sunlight.
(1) shone

{2} shine

(3} shown

{4) shining

If you combine the following two

sentences,

a) She likes English.

b) She likes Mathematics.

You will get :

(1) She not odly likes English, but
alzo Mathematics,

(2) She likes not only English, but
also Mathematics,

) Not only English but also she
likes Mathematics.

{4} She likes Englsh and not only
Mathematics.

The 'reported’ form of the sentence,

The teacher said to the pupils,

1 R EE——

{1} The teacher said the pupils to
lister.

(2) The teacher told the pupils
listen.

{2} The teacher asked the pupils to
listen.

i4) The teacher suggested the
pupils to listen,

76.

77.

78.

79.

[15]

BOOKLET @

Tdentify the question to get the
answer. '

Yes. We go there every year.

{1) Dhid you been to Ooty?

(2) Have been to Ooty ever?

{3 Did you go to Ooty never?
{4) Have you ever been to Coty?

In a letter to an officer, the
‘subseription'is .. ...

{1} Yours sincerely,

(2) yours faithfully.

{3) Yours faithfully,

{4) Yours' faithfully,

Identify the correct sentence that
eontains all the words in the box.

sun, elouds, makes, the, the, us, for

{1) The sun makes us for the clouds.
{2} The sun makes the clouds for us.
{3) The clouds makes the sun for us.
{4) The sun clouds makes for us.

Read the four parts of a sentence.
They are marked A, B, C and ).

A) because it was interesting
B) interested in the book

) that he could not put it down
D he was so

The correct sequence of the parts is :
(1) o), B), C), A)
(23 By, ), A) D)
(3) A), C),B),D}
4) ), C), A), B)

P.T.0.
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80 to 84 : Read the following passage and answer the questions given below.

Eli

W-2L/TET-111-EM/TM

John Ruskin says, "All books are divisible into two classes, the books of the

hour and the books of ull time."

Similarly some books are read by 95% of people for some years and then

they are virtually forgotten. Take for example, 'detective’ novels. We may not

have heard about the authors of detective novels like Erle Stanley Gardner.

Although the taste of readers is changing, 5% of people continue to read 'classics.

Mark Twain said, "A classic is a book which people praise but don't read.”

Books are good companions and good counsellors. They are like good friends.

As a good friend walks in when others walk out, books alse walk in to console

you. They offer the best solace you think of.

Aceording to Ruskin, books can be
divided into .......

(1} somecategories

{2) three culepories

i3 four catogories

{4) two eatepories

According to this passage, ...
i1} some books are read and
forgotien
i2) very few books are read but
- forgocten
=({3) most of the books are read but
forgoiten

4) no book is read and forgotten

B2.

[16]

According to this passage, .........

(1) a majority of people read classics

(2) every reader reads classics

(3) more than half of the readers
read claszics

{4) asmall pcmEntage of people read

classics

The writer of this passage compares

(1) friends
i2) classics
(3) time

4} detectives

The writer of this passage says that
bookscan makeus ...

1) feel sad

12) feel better

13) feel dejected

4) feel sarions
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Language games can vonsolidate

the pupils'skilla of ...

{11 listening and speaking only

{2 speaking and reading only

(141 reading and writing only

i4) listening, speaking, reading and
writing

We teach a supplementary reader

fOF s ;

(1} lesrning pronunciation

(4} learning syniax

(3 extensive reading

i4) intensive reading

Read the guestion in the box given
below

Choose the correct word to fill in
the blank.

Ravi goes o school ..., bicycle.

al by b} om

o) with dl over

The above test itemn tests the ... ;
(1} lexical itern

(2 lenowledge

(3 skill

(d) speech

a8,

(1]

BOOKLET @

At schools, teachers conduct unit

tests, terminal exams and annual

exXams toensura . ...

(1) continuous and comprehensive
evaluation

{2) summalive cvaluation

{3) diagnostic evaluation

i4) formation evaluation

In microteaching, the sequence of

eventsis:

(1) Teacher trainees improve their
spoken English.

(¥} They prepare a micrileszon
plan, teach, gel Lhe feedback,
replan and reteach,

{3) They teach, get the ferdback,
prepare a microlesson and
reteach.

{4) They prepare a microlesson plan

and improve their teaching.

(ne of the basie elements of spoken

English is flusncy. Fluency is the

ability of a speaker ........

(1) to pause at the right place while
speaking

{2} tospeak fast

{3) tospeak as fast as he can

(4) tospeak as slowly as he can

P.T.O.



Manabadi

Note: Highlighted Option isthe Correct Answer

PART-IV
MATHEMATICS
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91.

W-21/TET-111-EM/TM

There are three sectors in a pie-

diagram. Ifthe angles of two sectors
are 80° and 140°, then the angle of
the third sectoris ..............

M Sy TEPODr, By gl
i, 80° tbai 140° o Serod
Ttk Tptiven DS, L Db Bree
(1) 220" (2) 607

(3) 1407 (4) 80°

A ericket ball's cost is Rs. 36 and the
cost of a cricket bat is 12%4 times that

of the cost of the cricket ball. The
cost of the ericket bat (in rupees)is ... |

B el s . 36, S5 oS B8

ool 5t 1216 Tu oS e BS ergd
(o edt) '

137 450 (2) 350

(3) 550 (4) 650

1 1
The value of (12_?] (12_?5]

i I 1
[12 —"5—!"] ......... :I-2 o) 1m2 ] j.S pueiagan

101 7
(1) 150 2) 150
g 3
3 500 4] 100

[18]

94. Ina AABC,if|A = 90" and B = 2C.

then |18 .ocnn

£¥ AMABCE A =90", |B =C et

(1) 15° (2) 30"
(3) 45" (4) 90°

The present age of a father is 42
years and of his son is 12 years. The
ratio of age of the father to his son 2
VEATS BEO Was ..o

08, B [ otinines D 42
Sent,mes, 12 Sedtmes waxis 2
By Ste T SUiEi DS v
(1) 7:2 (2)4:1

(3 2:7 (4)1:4

If 2 m. 60 em cloth is required for
one shirt, then the cloth required for

i1) 14 m. 80 cms

(2) 18 m. 20 cms

(3 15 m. 20 cms

{4) 16 m, 80 cms

L St 2 2, 60 2o.5. R et
T Shomots et 08 v

(1) 14 2. 80 Deo.o.

(2) 18 B, 20 Bew.

(3) 15 %o, 20 o

(4) 16 & R0 Te.ou.
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The value of J]'.E: B.20 15 eeeaeenn

JUA1 2 8.25 o, DRI o
(2] 1
13) 4
43

If x, v, = are any thres reiioial
numbers and if 233, ¥>2, then
¢ =z . This property is known a8 ...
i1} Law of Tricotomy

{21 Transitive Properly

(1) Associative Property

(41 Closure Property

T, N e s et oS,
oy, ¥R E GasD x> wkgied. Oe
Femal e S areeisan

(17 :-;;g.m;:.::.:,ﬁ:.;n

(2] pitioes SO

{3 s 8

[ R e

A schoel has 560 students. I the
aumber of girls is 143% of the
mumber of hoys, then the number of

wirls in the sehool 13

= mﬂ?ﬁa ﬁh[:l e .";.-- Apakie
POEE pEe o, 1REeE 142 %

(11 420
(2 B
(3 10
4y 490

L0ud,

L)

102

ROOKLET @

T a cleck shows & o'clock, then the
angle berwesn the bwo honda s ...

riromett B reondati el Ded
natEhrne

(1) 240"

i) 120°

3 145"

14 1357

To represent «l al anmerical
values, same type of diagrams are
T 1= K1

{1} bor diagrams

(2) piediagrama

{3} eectors

i4) pictographs

warn ey Desnuii BOOslRS ¥
G By GoEReTs HiEES

(1) i Sigmes

(2) sl e LT

() Seelizes

(4] e Dpmae

There are aomse bags, where 21 bags
ure kept in each room. TF the bags
are kept in 16's amd 20°s per ront,
4 hoges are left out. The tota] number
of bags that are there in all i3 ...
L5 1, T 21 Tripsts B PG e
s, £ mwe 1B, A0S 16 2 20
s Godie: e $OF0 4 EEee

P.T.0.
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BOOKLET e

g 3 4
103. The value of = p'<-L 775 ] is 106, The differenee between the largest
& digit number and the smallest
a "3 47 SN :
17 7 & | D 5 digit numberis ...
117 esth pscBo Dod D BE Hamely, = wele
W D38 iy horpyo e Diia
- (1) 999998
o L (2) 888588
- 685 (3) D8BESS
hah {4) 989999
ST |
107. The summer vacation was declared
(4) _151_9; for all the schools from April 24 If
the vacation is for 49 days, then the
104. The ratio between Rs. 2 and 60 paise schoolS TEOpen o ... ...
s (1) June 11%®
&, 2 dobalis Bl e ol S5 e A2) June 127
i1} 1:30 (3} June 10
2y 30:1 (4) June 13"
(3 10:3 a5y DRETOLE Disotof 24 0 Baeel Bl
(4) 3:10 DU PEdoTw, Bupes 49 Feds
105. If one angle is the average of the {'; - ;‘f_'} vﬁ"ﬁ: St BE e ;
& .I |:ﬂ-p
other two angles and the difference (2] gnb, 12
between the greatest and least (3} wmi, 10
angles is 60", then the formed 4) e, 13
triangle iscalled .....coooers 108, If two-thirds, half and one-seventh
EE]' an im“"l‘gles t.rlismgia of a number is added to itself, the
{2) an equilateral triangle 2 :
(3) a right angled triangle result is 37. Then the numberis ........
(4} aright angled isosceles triangle 2 oy, Gloog, 23 S gpiion, ey weldin
v o |
i @ax_m w5 Sessas D Dot IIE;J"F e t?rﬁm-u 1‘3a3|:§"..v s ol Deok:
ﬁimﬁﬁwm% ﬁ%%ﬁi’,ﬁﬁ h 'F w‘r::', =] mﬂuﬁ EmnamrrEdE
st 607 soats & (OFRE () 1= @ 16—
() o el TG i -2
W (3 18 (4) 15 -
Kéﬂ} E eenBre (Gdoeo : a7 i
[jd) o et vewler [Giowo
W-21/TET-111-EM/TM [20]
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109,

110

111

Note: Highlighted Option isthe Correct Answer

The valiemi o v
every year by 'r;::v If the present
vaulue of the vehicle is Rs. 50,000,
then its value after two years (in
rupees! s

LR Gy, B Lesi . 50,000

B 'w-..r ,.,-_..-,_, s ST S J”‘r Eﬁﬁuj

Tota |.-.-=--\.-J'u.rp.nl'-“-} Slioartan @:- i
(1) 45,125
£3) 52,500

(2} 47,600
(41 54,875

The venter and end points of an are
af a circle are collinear. The are is

called 2B ..o

(1) diameter

(2} chord

{3 major ure

(4) semicirele |
LERE T _a..:u GO0, e i-D\-'l-h{lllq.
.m,ﬂs:.:.L A e e L TSt
1J o Pl P

F2l :E"

) cosspmmtsa

() wlipiGes

If h- . 9 and F _ g, then the value | 114

it Ir}

a+bh
of e skt

b+
I e +h

B B = LT G T eh v B2
Ir +
(L) - =4 -

4 3

ri :j._ .,.l_ 3
L) P L4 P

W2 /TET-11 L-EM/TM [21]

113,

BOOKLET e

Me depreciates | 112, The cost of 4 dozen papers is Rs, 24,

The cost of 1 score of papers [in
PUPHEE] 18 e

e S TGN e & 24 oo

2.5 2600 TGS T (::;..‘v.u:"-i]
(1) 40
2y 20
(3 10
14 42

The perimeter of a gemicircle
is 86 cms. Its diameter

fin centimetersl is oo

Wmﬁ?wé B Tao. Do esani IR
CiE = .u.wéa)

7

(2) 14

3 22

{4) 35

The value of (.2727........... +
07373000

02727 i + 0 TETA L. e
(1 1.001

A2 1.01

(3 L0202

4y 1.01071



Manabadi

Note: Highlighted Option isthe Correct Answer

BOOKLET @
METHODOLOGY

115,

116

W-21/'TET-111-EMTM

The author of 'Pancha Siddhantika'

T

(1) Aryvabhatta

(2 Varahamihira

{3) Bhaskaracharya

(4) Brahmagupta

el ool Hed Bt

(1) et

(2] STl

(3} oy

(4} i

The terminal competency to be

achieved in (Geometry at the

primary stageis..........

(1) to understand the types of
triangles

(2) to draw a circle when radius 1s
given

(3) to draw an angle equal to the
given angle

(4) toexpress the concept of a cirele
and technical words associated
with it

e Jowd® @lens® Poutels

(1) |Beoe: daveic e Sickhaon

(2) —@’Em“ o R e

(3) g Seenornis Barnad Praa
Rotisoes

() Sisriiie, mé?&:un';‘.a"u::i‘_"_{?'?'-:é

ezt n B Pt )
ST P eglting o

117. Students are asked {0 lind the
various characleristics of a vectangle
by using a geometrie box. The
teaching method adopted is the
(1¥ playway method
(2} problem sclving method
(3} Heuristic method
{4} project method
Nekis BOsTre DT Aol Siotetiie
ook, Dt elrmeis BTN Lo lpet

w

Ehas, St S il

(B Soruie
sty BEELBED
i) I-.-n.rauf“‘ ST
() |as Sud
118. In the lesson plan presently being
prepared in schools, the aspect to be
indicated after content analysisis ...
(1) teaching learning activities
(2) competencies to be achieved
(3} teaching learning material

(4) evaluation

e Svwroed’ Bol Loty

o wetie

(1) Shmgiss

s
':,:Etl F :h—" hlg-. ?E"‘:l-lm"‘
e Ly

(B Sy

(4) Rarerpine

[22]
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Note: Highlighted Option isthe Correct Answer

119, "Student verifies the outeome when

two fractions are multipliec". This
specification belongs to the objective
s R~

(11 understanding

{21 knowledge

{3) application

141 skill

“Tobs Comyis forlslm Bows Slomy
:.«:PBE!- iRt ol O L'"E‘E:‘ﬂ st
(1) e

(2) et

() o eaas

(4) Byragzs

(23]

BOOKLET @

120, T evaluate a text book as per the

Hunter's score card, the content is

to be agsessed for ... points.

(2) 250
{3) 100
(4) 300

P.T.O.
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Note: Highlighted Option isthe Correct Answer

PART-V
ENVIRONMENTAL STUDIES

BOOKLET @

121.

122,

s WA 4 44 TEPRAEFTRY

Examine the following :

A) The tip of the tongue — sweet
Laste

B) The back of the tongue — sour
taste

(!} The edges of the tongue — bitter
taste

[} The middle of the tongue — salty
taste

Tdentify the correct pairs .

RO et foGetyRes.

A r e rtat - &b
B} mreek ool - Hesd £
) resl somoee - W %

1) el alpiplic - G
(11 A, C)
(2 B I
{31 B, C)
(41 Ay DM

The first-aid kit in a classroom

containg tartaric acid, iodine,

antiseptic letion and potassium

permanganate. The item/items you

use to give first-aid to the vietim of

seorpion bite isfare ...

(1} odine

{(9) polassium permanganate or
tartaric acid

(3) antiseptic lotion

(4) antiseptic lotion and iodine

e R s, (e DBom BsE, B

wiigion, L@ndh, Dedugh B wedaw

Srepliiize STRoIENSs G, el B3

e D, Soturnd Hiy S8Rt BY

vl R '

(1) wd@ads

(2) Svenbgtes Sosibes BF et

(3) Doy Oun

(4] Doadialss S35 vobain wdlaedd

(241

123. The number of players and extra

players present in a kabaddi team

respectively are ............

e e eaennd, e iy el GERY
=Ly :3=$3 Pl

(1) 5,2

(2) 6,4

i3) 7.5

4 8,2

124. Examples for pollination by water

and pollination by wind regpectively
BT ssiimivsss

{1) hydrilla, mzize

(21 wheat, vallisneria

(3) drosera, paddy

{4) eichornia, pistia

Lal e wobdien ™ oo 0RO
el Grpinlre BN e

(1) Spigeer, 28,8

(2) Riges, PUyLEP

(3) =i, il

(4) comlcion, mc

Skeleton of a man : bones ; : skeleton
ofleaf: ...

(1) chlorophyll

{2} veins

(3) xyvlem

(4] stomata

i epboniiio 1 JReoses eabindlog
ety BT e

(1) Sgndstis

(2] e

(3 orlatrnrasio

(4) Bpteimres
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| 26.

127.

128.

W.2 1/ TET-111-EM/MTM

Note: Highlighted Option isthe Correct Answer

A farmer collected ‘eword suckers'

to grow in hus field. The crop 8 ...
(1) potato

{21 turmerie

(3) plantain

{4} sweet potalo

LI Tk, @9 Spoodt wh e 2eRE o L
N sabeTeli sy e Dot

(1) fooimeRlssad o

(2] meig

() esid

(4] miohtdess o

The skin disease eansed due to

vitamin deficiency is ... ;
(1) Pellagra

(2 Bozema

(3 Acne

{4) Measles

Sy o o SEIR S5 T

(1) s
{2 s b
(3) Dasdiices !

A farmer has a field with sand soil
in coastal region. Suggesta suitahle
crop which can be grown in his field.
i1y Turmeric

{21 Sagarcane

(3} Chillies

141 Casuarina

s DO oo O mrebod ..;f:»:.‘:ha o175
ey daol, t SPoa” neet el .a.'.h.
ot e Q- e

Chy iy

(2) 2LEs

LA o

(4} Bbehadis

[25]

129, A person wishes to stey in‘a forest

and study the life of wild gnimals.

The type of the house he has to live

(1) a tent house
{21 a mud house
(3} astilt house
{4) a hut

wrndt Tova, sED Rgme fkied
ugmme*mﬁ%mw;&“ =
sl iERe Tl

(1) roleg
(2] wegmoe
(3) HosDgu
(4) Hod? ~

g+
=]
ks

. The abundant presence of these

plants decreases the nitrogen
percentage in the air.

(1} leguminous plants

i2) plantains

i3) water hyaeinth

4} coconut

5 Bt 0 e T g PO
v Siheel

(1) 3:‘2'-:..35. e

(2) el

(4) Sl

The gas that destroys ch lorophyllin
plant leaves is e

Zuas, esed’y SBIORY THHO B
TR oo
(1} CO,

(2) 80,

(3) H.S

(4) S0,

PO
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Note: Highlighted Option isthe Correct Answer

132. Pick up the wrong statement with

reference to water,
i1y It is not an element.
{2) It iz a good conduclor of
electricity,
(3) 24, +0,—* 2H,0.
{4) It has a constant ratio of
hydrogen and oxygen.
533 Bowofed B 2B Hndl
1) esd Sommebiics 7980
(2) esb Do Jks e
(31 2H,+0,— 2H 0.
(4) Bab ipEind, wleon 3y oo
ol
133. Examine the tollowing statements,
i1 Need not clean toilet daily-
il White washing of a house to be
taken up periodically.
iii} Store the garbage in the dustbin
only forever.
iv) Water and food vessels must be
eovered with lids.
Identify the correct responses from
the following options.
Beb Tsecniie B0Dotol
A) (o netiory S0 Righinminte
B
i) 2 nRa6° neud B b Ry Rt
Hi) B, Do, Jpet Deeed
T evei)
Av) Bt Solcin wlidroe SMBSD
RO sl foBeled.
(1) 1), dii) (2 1, 1)
3y i avl (4) iii), 1v)

W-21/TET-111-EM/TM

BOOKLET @

134. Latitudes and longizudes on a globe
HICE e
(1) latitudes are fnorizontal
imaginary lines and longitudes
are vertical imaginary lines
{2) latitudes are vertical imaginary
lines and longitudes are
horizontal imaginary lines
{3) both latitudes and longitudes
are horizontal imaginary lines
(4) both latitudes and longitudes

are vertical imaginary lines
Ffm:.:ﬁﬂ e, Capoheses

(1) emotine shomictnds Laflpe
i Teraicoes Dot Adindl

dhesrilepen
(2) wgottce: Doyt Roifseads
Saritopos Sabcin Toreiiae o

Btieadon Satifdeios

(3) wored, DyPswduos Joke egam
fictiseadis Buriaes

(1) wpeis, Sypotinies 0SGF Suigl

Aonsish eriies

263}
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135. 'Gramasabha' means ...

W-21U/TET-111-EM/TM

Note: Highlighted Option isthe Correct Answer

(1} it is a meeting in which the
sarpanch and all ward imembers
participate

(23 it is a meeting headed by the

sarpanch in which all tht-rpco]:ﬂe.

of a1 village attend

() ‘i iz a meeting of sarpanch and
the upasarpanch with village
socrotary and other employees of
the grama panchayat

4y it is a mceting- headed by Lhe
sarpanch in which all ward
members, youth associalions

and custe heads attend

VT T e

(1) 'ﬁ"‘:n:’.:r:.‘-\e:.: weliog wmgum
"{':-' R -u.--"w"-u-"\:

(2} [T :{-_.:_-, AT
T "“"L-‘Ji“ﬂ“.a.:-L,-

(3) istyel, sz, RTINS
Sodotee qﬁ;ﬁ‘i:';-cﬁuxﬁ ﬁ;a.j.‘{.::-_\
PP

L4 _.__.'f;".".‘.‘tﬁ_-m.ﬁ e S0, T 13 Ll

o

s oL Wiy Bulmres
.

el

1271

BOOKLET @

136, 'Shravanbelagola’, and Mahabali-

purar’, the historical places arv
lseated respectively in these states,
(1) Andhra Pradesh, Tamil Nuadu
{21 Kerala, Karnataka

(21 Tamil Nadu, Karnalaka

{4) Earnataka, Tamil Nado

imsmaiie, worielipis’ wis OB
e Sl U DRTGE S

-

(1} '?-!-’G‘Q %, BIOETRES
(21 Bue, sowual
() Shedimrtis, TonesT

{4) omess, Blolaris

137. The areaof Indiz ig .-

(1) 3.28 million sq. kms
(%) 2.8 million sq. kms

' (3) 3.28 billion sq. kms

(41 32.8 Lillion sg. kms
el Gant, TS
(1) 3.28 sobold nise.
(1) 32.8 2:Egieh S8,
(1) 3.28 DEanS 2.ah.

(4) 32.8 Hhonk B30

P.T.O.
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Note: Highlighted Option isthe Correct Answer

158, Tiead the following and identify the

139,

W-21/TET-111-EM/TM

correct pair

A) Kuchipudi — Tamil Nadu

E) Bhangra — Punjab

) Bharatanatvam-Andhra Pradesh
Bal i DS S0 &y, vl Nalotied
A) BT - oot

B) grope - Sewed

C) g - w555
(1) B), C)

(2) A} )

{3) A), B)

{(4) B) only

Eastern and western ghats of
peninsular plateau meet here.

i1} Seshachala hills

(2} Nallamala mountains

(3} Milgiri mountaing

(4) Papi hills

B e hugieed e Brtiy, Do Bikoes
TP 5.5 SooTrow

(1} Bieitne Bladin

(2) Seice Soles

{3) hehdSodes

{4) s Poties

140.

141.

(28]

BOOKLET e

The hot deserts are situated between
these latitudes on either side of the

eqquator.

ol el e 'q.....\:;_u:-' ek
(=8 Fre oY = e Jrioms, ol i gl
T EEPEECNT N0l TU0
oy 15" -_3‘[]"

12) 307 - 457
(3) 5°—15°
(4] 0P - 5°

Health, revenue, fire services and
educalion belong to this category.
i1} All are ordinary services.

(2) All are emergency services.

14) Health gnd fire services are
EINCIECIICY services, revEnue
and education sorvices are
ardinary services.

id} Health and fire services are
crdinary services; revenus and
education Eorvices dre
EIMEFEENCY BRIVIDRE.

e, TRAR, whipeRy o webde 0%

peiachin G DRk Bl

(1) &y P e

(2) el withaiit Sibos

(3) Dby olaics elimal Moo wlil

] o s - £
Sma DamPe w0ododae Wiy Jam

Sues; TINey Lollize DIRg he

et im0
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Note: Highlighted Option isthe Correct Answer
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Note: Highlighted Option isthe Correct Answer

METHODOLOGY

BOOKLET @

145, The product of seience ig indicated

146.

brpanas

(1} the scientific method of inquiry

(2) accumulated and systematized
body of knowledge

(4) the seientific attitude

{4) gathering of data

ST TR G D Us DOoiT AT Deliesiistne )

(1} Tt soad® wbie
1) @recdaeeds Sl et

147. The method that helps in developing

manipulative skills among the

studentsis ...

(1) lecture method

{2} historical' method

(3) laboratory method

{4} lecture cum demonstration
method

D tnend g s e

Deleefonoend Skon ot nan
-

SOl e (1) g sed
(3) Fezcio B0 (2) roeisnd
(4) Sores B3t (3) Srme 255
Most important initial step towards (4} ey wotmm s
achievement of an aimis ..., 148. The arrangeinents that shows the
(1) slall crealures living on the land is ...

(2) ahility

{3} ahjective

(4) goal

€T (aim) g’ 50 Lo e S s
v kTS

(1) Zaro

(2) Siine

B3] e

4} Faoo T

W-ZU/TET-111-EM/TM [30]

(1) aquarium
(2} tervarium
(3) herbariuwm

(4) wivarium
EFDOe mielts hres
(1) eBfuie ™

(2) adocie

i3] i taise b

4) I35l
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Note: Highlighted Option isthe Correct Answer

149. The plan meant for evaluating the
learning outeomes of the students In
the classroom is called ...

(1) unit plan
{2} subject plan
(3} lesson plun
i4) year plan

1,

[ )

Kaft Dmmie wipie SEO

Garroratiie Dol Bl PRredd
- -

™

.li]} Ewte el ol

{

(2SS R

44) PG HeTT

i

W-ZUTET-111-EM/TM

[31]
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150, The evaluation that is used for
gTar_Hnglpurpﬂsc izcalled .oveen e
(1) formative evaluation
(2) summalive evaluation
{3) diagnostic evaluation
(4) grading evaluation
e i (grading  purpose)
Tk Dakemid fatEmThes L5E
(1} Dokt Seproretog
(2) Hotemris Mrenatos
(3) &% Iptie Saranysiie
(4) fideh fareresse

P.T.O.



